8.3

Mathematics Alt.B Paper 1 (122/1)

~3x "6+72  —18+72 _

-4+"'5-"3 1+3

I890=2 x 3x 3 x 3x 5 x7

1008 =2 x 2 x2x2x 3 x 3x 7

Common prime factors
35,7

0850h + 6h 30min = 1520h
1520h + 1h 45min = 1705h
1705h + 3h 15min = 2020h
2020h + 35min = 2055h
Time of arrival in 12h system
2055 —-12=28.55pm

(4.321 x 10" = 80.68 x 107
= 0.08068

T x45 = 25000
o 125000
%45
= 13.29807601
=13.3

3x<2x+3

x=3

2x+3<4x+5

x <1

x>-1

Integral values: 0, 1, 2, 3.

234=2x3"x13
270 =2 x 3°x 5
304 =% = 3t
- HCF 0f 234,270 & 324 = 2x37=18
Number of pieces
234 270 324

+ + =

18 18 18
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9. h'=65-25"

h=+65"-25"
-3

=6
Height of pole
=6+09
= 6.9m

(3marks)

10.

25 03979,

S04 2 8062
8.1 :
12041

0.9085

2.2956 x —

0.1405 11478

= (.1405
(3marks)
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11.

12.

13.

14.

15,

£ CBA=86+1°

Linear scale factor = _1“6_ = i
V 25 5

3
Volume scale factorz(g)

. Volume of smaller cylinder = Téi‘j x 800 = 409.6 cm’

x>+ 8x 384=0
x+24)(x-16)=0
=.24 or x =16

Sum of angles of regular polygon
(2n—4) 90 =1620
2n—-4-=18

n=11

p=3+gq

(3+q)’ -’ =21
9+6q+q°—q° =21
q=2

p=35
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16.

17.

18.

0

Area of sector = x3? %

OU
=942

Area of rhombusg = % x 3% % 2 % 8in 120

=179
Area of shaded region = 9.42 — 7.79
= 1.63

(a) 800000 - 500000 = 300000

48000 + 2 300000 = 57000
100

(b) 780000 — 48000 = 30000

30000 x 1—(;0-+500000 — 1500000

40 3

(c) — X X (2500000- 500000) = 24000

160 100

24000 + 48000 = 72000

y=3 _,
(@ () x-0
v=2x+5
(i1) Gradient of L

my X ms = -1
2 x my= -1

my :—1

2

Equation of L,

(1)  Equation of L,
y-2 1

x-1 2

1 1
=——Xx+2—
Y=mpErey
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b)

19. a)

b)

At intersection of Ly and L;

2x+5=——lx+2l
2 2

x=-1

y=2-1)+5=3

Coordinates of point of intersection = (-1,3)

Nehema’s faction:

Lo B2y g BL B
3 5 15 5

Amount Nehema got

%X 750000 = 200000

Profit realized after taxation:
Before taxation

ELY x 750000 = 270000

100

After taxation

e x 270000 = 256500
100

Amount to be shared after each received 20000

= 256500 - 60000
= 196500
Ratio of sharing

Amani: Furaha: Nehema = l : E : i
3 5 15
=5:6:4
Furaha’s share more than Nehema’s

196500(—6—1'—";) =26 200
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